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W = Fd cos 6

Wg, = Fid cos 8 = 200 X 6 X cos 60 = 600/
W, = F,dcos8 = 60 X 6 X cos 0 = 360/
Wr, = frdcos 8 = 40 X 6 X cos180 = —240]

W, = Wy, + Wy, + W;, = 600 + 360 — 240 = 720]
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Pt Pgh =D,
P . =DPo—pgh =100000— 13600 x 10 x 0.2 = 72800pa
-
P~ Po=D, ,=Po—pgh—po=—pgh=
Po ™ —13600 X 10 X 0.2 = —27200pa
Pt 20 = pg Py~ Po = —20cmHg
@M
m
Avy = A, 5 12 X5 =250, s v, = 2.4?
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3 3 m 6400 3 Y
vw&=10 cm —>p=;—>8=7—>v=800cm -
v, = 1000 — 800 = 200cm?3
(@l oy

P =pgh =1000X 10 X 6 = 6 X 10*Pa

P =py + pgh = 1000 x 10 X 6 + 10° = 16 x 10*pa
F=PA=16x10*x10™* = 16N
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